#### Penton, Lauren

From:
Sent:
То:
Cc:
Subject:
Attachments:

Neil Wilson 15 September 2015 15:46 s.blake@rydon.co.uk Roy Fewster Grenfell Panels.xlsx Grenfell Panels.xlsx; Terms Conditions Architectural Facades.doc; FW: Grenfell Tower Curtain Wall

Hi Steve,

I've been asked by Roy Fewster to forward you our quotation for the remaining cassette panels at Grenfell Tower, London W11, that we had been supplying to Harley's.

Please see the schedule attached, this lists the panels that we have delivered to date and those that are outstanding.

All panels are fabricated from 4mm thick Reynobond Smoke Silver ACM to Harley's drawings.

The value of the remaining panels = £258,800.00 plus carriage costs as required, our T&C's are attached.

I've also attached a copy of the Curtain wall order we received from Harley's for the curtain wall screens CW1-3 for the south elevations Value = £25,729.00

If you have any queries, please contact me.

Many thanks

Neil

## **Grenfell Tower**

# Spandrel Panels

Ref	Nr Req'd	Rate	Total
WS15/1	2	183.59	367.18
WS15/2	76	175.24	13,318.24
WS16/1	54	102.46	5,532.84
WS16/2	80	113.50	9,080.00
WS16/3	0	104.31	-
WS17/1	40	107.09	4,283.60
WS17/2	20	107.09	2,141.80
WS17/3	80	105.75	8,460.00
WS17/4	80	105.75	8,460.00
WS17/5	160	103.95	16,632.00
WS17/6	160	103.95	16,632.00
	752		£ 84,907.66
	Contractor of the Contractor o		

## Columns

Ref	Nr Req'd	Rate	Total	
W\$35	96	215.28	20,666.40	
W\$34	240	177.58	42,619.20	
WS37	240	177.58	42,619.20	
WS38	192	177.58	34,095.36	
			£ 140,000.16	

## Spandrels & Crowns

Ref	Nr Req'd	Rate	Total
WS51/1	2	178.58	357.16
WS51/2	8	178.58	1,428.64
WS52/1	4	124.56	498.24
WS52/2	4	124.56	498.24
WS52/3	8	124.56	996.48
WS53/1	2	124.56	249.12
WS53/2	2	124.56	249.12
WS53/3	4	124.56	498.24
WS53/4	4	124.56	498.24
WS53/5	8	124.56	996.48
WS53/6	8	124.56	996.48
WS58/1	246	82.25	20,233.50
			£ 27,499.94

		O/S Value	£ 2	58,807.76
			£	6,400.00
WS65/1	4	600.00		2,400.00
WS64/1	10	400.00		4,000.00
column lops				

### CEP000003234/2 CEP000003234 0002

## **Grenfell Tower**

### **Spandrel Panels**

		Delivered				Total	Nr
Ref	Nr Req'd	25.06.15	29.06.15	23.07.15	30.07.15	Delivered	Required
WS15/1	40			38		38	2
WS15/2	160	56	28			84	76
WS16/1	80			26		26	54
WS16/2	80					0	80
WS16/3	160			38	122	160	0
WS17/1	40					0	40
WS17/2	40			20		20	20
WS17/3	80					0	80
WS17/4	80					0	80
WS17/5	160					0	160
WS17/6	160					0	160
	1080	56	28	84	122	328	752
	No	AND IN COLUMN TWO IS NOT THE OWNER.			and the second	and the same of the second	Contraction of the local data and the local data an

#### **CEP ARCHITECTURAL FACADES LIMITED - TERMS AND CONDITIONS OF SALE**

1 <u>GENERAL</u> a) In these conditions 'Buyer' means the person whose order for the Goods is accepted by the Seller, 'Goods' means the goods (including any instalments of the goods or any part of them) which the Seller is to supply in accordance with the Conditions, 'Seller' means CEP Architectural Facades Limited (registered in England under no 3244260). 'Conditions' means the standard terms and conditions of sale as set out in this document and (unless the contract otherwise requires) includes any special terms or conditions agreed in writing between the Buyer and the Seller, 'Contract' means a contract for the purchase and sale of the Goods, 'Writing' includes telex, cable, facsimile transmission and comparable means of communication.

b) These Conditions with such special conditions as may be specified on the face of the Sellers order acknowledgement are the only conditions upon which the Seller is prepared to deal with the Buyer and they solely govern any contract arising out of the Seller's quotation and order acknowledgement to the exclusion of any other expressed or implied conditions.

2 FORMATION OF CONTRACT a) No contract shall be formed until the Buyer's order has been accepted in Writing by the Seller. Any quotation in whatever form given to the Buyer is given subject to these Conditions and does not constitute an offer to sell. b) No variation to these Conditions shall binding unless agreed in Writing between the authorised representatives

shitting unless agreed in writing between the authorised representatives the Buyer and the Seller. c) Any representations, advice or recommendation made or given by the Seller or its employees or agents to the Buyer or its employees or agents concerning the Goods or as to the storage, application or use of the Goods which is not confirmed in writing by the Seller if followed or acted upon entirely at the Buyer's own risk, and accordingly the Seller shall not be liable for any such advice or recommendation which is not so confirmed. d) Any typographical, clerical or other error or omission in any sales literature, quotation, price list, acceptance of offer, invoice or other document or information issued by the Seller shall be subject to correction without any liability on the part of the Seller.

3 <u>ORDERS AND SPECIFICATIONS</u> a) The Buyer shall be responsible to the Seller for ensuring the accuracy of the terms of any order (including any applicable specification) submitted by the Buyer, and for giving the Seller any necessary information relating to the goods within a sufficient time to enable the Seller to perform the Contract in accordance with its terms. b) The quantity, quality and description of and any specification for the Goods shall be those set out in the Seller's quotation or the Seller's acknowledgement of the Buyer's order. c) If the Goods are to be manufactured or any process is to be applied to the goods by the Seller in ~ ordance with a specification submitted by the Buyer, the Buyer shall

Imnify the Seller against all loss, damages, costs and expenses awarded against or incurred by the Seller in connection with or paid or agreed to be paid by the Seller in settlement of any claim for infringement of any patent, copyright, design, trade mark or other industrial or intellectual property rights of any other person which results from the Seller's use of the Buyer's specification.

4 PRICE a) All prices are quoted exclusive of Value Added Tax and are subject to the addition of Value Added Tax at the appropriate rate where applicable. b) The price of the Goods shall be the Seller's quoted price or, where no price has been quoted (or a quoted price is no longer valid), the price listed in the Seller's published price list current at the date of acceptance of the order. All prices quoted are valid for 30 days only or until earlier acceptance by the Buyer, after which time they may be altered by the Seller without giving notice to the buyer. c) The Seller reserves the right, by giving notice to the Buyer at any time before delivery, to increase the price of the Goods to reflect any increase in the cost to the Seller which is due to any factor beyond the control of the Seller (such as, without limitation, any foreign exchange fluctuation, currency regulation, alteration of duties, significant increase in the costs of labour, materials or other costs of manufacture), any change in delivery dates, quantities or specifications for the goods which is requested by the Buyer, or any delay caused by any instructions of the Buyer or failure of the Buyer to give the Seller adequate information or instructions. (d) Except as otherwise stated under the terms of any quotation or in any price list of the Seller, and unless otherwise agreed in Writing between the Buyer and the Seller, all prices are given by

the Seller on an ex works basis, and where the Seller agrees to deliver the Goods otherwise than at the Seller's premises, the Buyer shall be liable to pay the Seller's charges for transport, packaging and insurance.

5 PAYMENT a) Supply of Goods Only: Payment will be made by the Buyer for each consignment of Goods not later than the last day of the month following the month in which the Goods are delivered or collected. b) Contracts for Design and Supply: Design fees will be invoiced on submission of drawings. Thereafter at monthly intervals valuations will be submitted by the Seller showing the value of materials delivered or appropriated to the Contract during the preceding month and payment will be made against such valuations not later than 30 days following the date the valuations are submitted. c) All payments will be made by the Buyer to the Seller in full without any deduction, discount or set-off unless otherwise agreed in writing by the Seller. d) If any payment is not made by the Buyer by the due date, the Seller shall be entitled: i) to charge interest on the outstanding amount at the rate of 4 per cent above the Seller's Bank's Base Rate accruing daily, (ii) to require payment in advance of delivery of undelivered Goods; (iii) to suspend further deliveries whether under the Contract or otherwise and without incurring any liability whatever to the Buyer for delay or nonperformance; (iv) to terminate the Contract.

6 DELIVERY AND STORAGE a) Delivery of each consignment of Goods shall be made to the place and in the manner designated by the Buyer when placing the order. b) If Goods are to be collected, the Buyer will arrange for the same to be collected within fourteen days of the Seller giving notice to the Buyer that the Goods are ready for collection. The Buyer will give the Seller at least two clear working days notice of the time and manner of proposed collection. c) Unless otherwise expressly agreed in Writing any delivery or completion times indicated by the Seller in its quotation are business estimates only and the Seller will not be liable to the Buyer for any loss or damage sustained by the Buyer as a result of the Seller's failure to comply with such delivery or completion times. d) If for any reason beyond the Seller's control the Buyer is unable to accept delivery at the specified date the Seller shall be entitled to submit a claim for payment as if delivery had taken place. The Seller will also be entitled to be paid the amount of any additional loss and expense arising from the delay. The Seller will store Goods at the Buyer's expense pending acceptance of the Goods by the Buyer. e) The Buyer shall be responsible for providing labour and equipment at the delivery point for the unloading of vehicles. The Seller will not be liable for shortages or for Goods damaged during transit unless written notice is given by the Buyer to both the Seller and the carriers within three days of receipt of the Goods and unless a reasonable opportunity is given to inspect the Goods and unless a claim is made by the Buyer in writing within seven days after the termination of the transit. f) The Seller shall be entitled to delay, suspend or cancel deliveries if the Buyer becomes bankrupt or makes any agreement or composition with his Creditors or goes into liquidation (otherwise than voluntarily for reconstruction or amalgamation purposes) or if a receiver is appointed. These rights may also be exercised by the Seller (at its absolute discretion) if the Seller doubts the credit worthiness of the Buyer.

7 RISK AND PROPERTY a) In the event that the Goods are to be delivered by the Seller to a place nominated by the Buyer, the risk therein shall pass to the Buyer when the Goods are tendered for delivery at that place. b) In the event that the Goods are to be collected by the Buyer from the Seller's premises, the risk therein shall pass to the Buyer when they are loaded onto the Buyer's vehicle or onto the vehicle of the Buyer's carrier or other agent or at such time as they are available for loading onto that vehicle and would have been loaded onto it had the Buyer duly collected them. c) The Buyer shall be solely responsible for ensuring that the Goods are adequately stored in dry accommodation under cover and in accordance with the Seller's recommendations after the risk therein has passed to the Buyer, and the Seller shall not be responsible for any loss or damage or deterioration of the Goods from whatever cause arising. d) Until all sums due under this contract and for all other Goods agreed to be sold for which payment is then due have been received in cleared funds by the Seller the Goods shall remain

the property of the Seller who shall be entitled to re-possess all or any of the Goods if at any time the Buyer has defaulted in any payment or if in the reasonable opinion of the Seller the credit standing of the Buyer has been impaired, and the Seller may enter onto any land of the Buyer for the purpose of so re-possessing the goods. e) Until such time as the property in the Goods passes to the Buyer, the Buyer shall hold the Goods as the Seller's fiduciary agent and bailee, and shall keep the Goods separate from those of the Buyer and third parties and properly stored, protected and insured and identified as the Seller's property, but shall be entitled to resell or use the goods in the ordinary course of business.

8 WARRANTIES AND LIABILITY a) Subject to the conditions set out below the Seller warrants that the goods will correspond with their specification at the time of delivery and will be free from defects in material and workmanship. b) The above warranty is given by the Seller subject to the following conditions: i) the Seller shall be under no liability in respect of any defect in the Goods arising from any drawing, design or specification supplied by the Buyer; ii) the Seller shall be under no liability in respect of row defect arising from fair wear and tear, wilful damage, negligence,

ormal working conditions, failure to follow the Seller's instructions (whether oral or in writing), misuse or alteration or repair of the Goods without the Seller's approval; iii) the Seller shall be under no liability under the above warranty (or any other warranty, condition or guarantee) if the total price for the goods has not been paid by the due date for payment; iv) the above warranty does not extend to parts, materials or equipment not manufactured by the Seller, in respect of which the Buyer shall only be entitled to the benefit of any such warranty or guarantee as is given by the manufacturer to the Seller. c) Subject as expressly provided in these Conditions, and except where the Goods are sold to a person dealing as a consumer (within the meaning of the Unfair Contract Terms Act 1977), all warranties, conditions or other terms implied by statute or common law are excluded to the fullest extent permitted by law. d) Any claim by the Buyer which is based on any defect in the quality or condition of the Goods or their failure to correspond with specification shall (whether or not delivery is refused by the Buyer) be notified to the Seller within 7 days from the date of delivery or (where the defect or failure was not apparent on reasonable inspection) within a reasonable time after discovery of the defect or failure. If delivery is not refused, and the Buyer does not notify the Seller accordingly, the Buyer shall not be entitled to reject the Goods and the Seller shall have no liability for such defect or failure, and the Buyer shall be bound to pay the price as if the Goods had been delivered in accordance

1 the Contract. e) Any valid claim in respect of any of the Goods which s based on any defect in the quality or condition of the Goods or their failure to meet specification must be notified to the Seller in accordance with these Conditions within 12 months from the date of delivery. The Seller shall be entitled to replace the Goods (or the part in question) free of charge or, at the Seller's sole discretion, refund to the Buyer the price of the Goods (or a proportionate part of the price), but the Seller shall have no further liability to the Buyer. f) Except in respect of death or personal injury caused by the Seller's negligence, the Seller shall not be liable to the Buyer by reason of any representation (unless fraudulent), or any implied warranty, condition or other term, or any duty at common law, or under the express terms of the Contract, for any indirect, special or consequential loss or damage (whether for loss of profit or otherwise), costs, expenses or other claims for compensation whatsoever (whether caused by the negligence of the Seller, its employees or agents or otherwise) which arise out of or in connection with the supply of the Goods or their use or resale by the Buyer, and the entire liability of the Seller under or in connection with the Contract shall not exceed the price of the Goods, except as expressly provided in these Conditions.

9 <u>HEALTH AND SAFETY</u> The Buyer will, on or before delivery of the Goods, if so requested by the Seller, enter into a written undertaking to take

1

such steps as may be specified to the Buyer by the Seller and set out in such undertaking relating to the safe and proper use of the Goods without risk to health. The Buyer shall indemnify the Seller in respect of any liability, monetary penalty or fine in respect of or in connection with the Goods incurred by the Seller under the Health and Safety at Work enactments or regulations.

10 ALTERATIONS AND MODIFICATIONS a) The Seller may without notice to the Buyer carry out alterations or improvements in design, materials or methods of manufacture from time to time and may substitute other reasonably similar parts for any proprietary or special parts ordered by the Buyer and which the Seller considers to be unprocurable, or unprocurable in sufficient quantities or in sufficient time or procurable only with difficulty or at excessive cost. b) Further the Seller may supersede, materially alter or abandon the design or type of Goods contracted for and may substitute another design or type. In exercising this right, the Seller shall give written notice to the Buyer who may within fourteen days after such notice is given terminate the Contract by giving notice in Writing to the Seller. If the Contract is so terminated the deposit, if any, shall be returned to the Buyer but no other claim for loss or damages may be made. c) If, in the opinion of the Seller, there is no design or type which could reasonably be substituted under sub-clause 10(b), the Seller's obligation to complete performance of the Contract shall be suspended until such time as a substitute therefore can be found and becomes available.

11 <u>FORCE MAJEURE</u> The Seller shall not be liable for any loss or damage caused by delay in the performance or non-performance of any of its obligations hereunder where the same is occasioned by any cause whatsoever beyond the Seller's reasonable control including, but not limited to: any act of God; war; civil disturbance; requisitioning; governmental or parliamentary restrictions; strike, lockout or trade disputes (whether involving the Seller's employees or those of any other person); difficulties in obtaining labour or materials; breakdown of machinery; fire; or accident. Should any such event occur the Seller may cancel or suspend this Contract without incurring any liability for any loss or damage thereby occasioned.

12 <u>DELAY OCCASIONED BY THE BUYER</u> a) The Buyer shall promptly furnish all designs, equipment, personnel, information and instructions necessary for the Seller to be able to undertake the work in performance of the Contract. b) The Buyer will be liable to the Seller for all extra cost, loss and damage suffered by the Seller in the event of any suspension or disruption of work resulting in whole or in part from any instructions, lack of instructions, interruptions, overtime, unusual hours of work, or delays on the part of the Buyer.

13 <u>CANCELLATION</u> No order which has been accepted by the Seller may be cancelled by the Buyer except with the agreement in Writing of the Seller and on terms that the Buyer shall indemnify the Seller in full against all loss (including loss of profit), costs (including the cost of all labour and materials used), damages, charges and expenses incurred by the Seller as a result of cancellations.

14 <u>WAIVER</u> No waiver by the Seller of any breach of the Contract by the Buyer shall be considered as a waiver of any subsequent breach of the same or any other provision.

15 <u>GOVERNING LAW</u> The contract shall be construed in accordance with and governed by the Laws of England and the Buyer agrees to submit to the non-exclusive jurisdiction of the English courts.

CEP000003234/5 CEP000003234\_0005